Read and write the correct economic sector.

This is the sector which provides services
to customers.

®  This sector obtains products directly from nature.

This sector manufactures new products

o g
from raw materials.

Read the text. Choose and write the best word for each space.

Today 5 per cent of the (1) population
of Spain works in the primary sector. This is 55 per cent less

than at the beginning of the 20th century.

Olives and (2) are the main crops in Spain,
although potatoes, cereals, and vegetables are also grown.
In the field of livestock farming, pig farming is an important

activity, mainly in (3)

Since Spain has many kilometres of coast,
() is an important activity, too.
Mining is not as important as it was in the past, but there

is still some notable mining activity in Asturias.
Spain's secondary sector is (%) in size.
About 30 per cent of the active population works

in this sector. There are important (¢)

in Bilbao, Barcelona and Madrid.

© active / passive / rural © Galicia / Aragon / Extremadura © growing / decreasing / falling
@ rice / oranges / apples © tourism / farming / fishing © industries / products / materials
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